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SECTION-A
i) General Awareness

1 \Which of the following award winning | 7. The condition called simple goitre IS

films had no dialogues ? caused due to the deficiency of
(A) “Daasl’ . (A) lodine
(B) “Pushpak® (B) Calcium
(C) “Salaam Bombay” (C) Thyroxin secretion »
(D) “Chetak’ (D) Thyroid stimulating hormene
o In whose reign did Kalidas flourish ? §. The non-permanent members of the

Security Council hold office for

J (A) Kumaragupta (A) Three years 3
(B) Skandagupta (B) Two years “
( (C) Chandragupta Maurya (C) Sixyears
1 (D) Chandragupta Vikramaditya (D) Five years

3 EastIndia Company was established in 5. In India diarmonds ars quarried from

(A) 1605 AD (B) 1857 AD (A) Goleonda

4  Fundamental Rights are enumeratedin (C) Ratnagiri
which part of the Indian Constitution 7 (D) Panna
(&) Part =1l (B) Part-li

10. The author of the book “Adventures of

(C) . Part-IV (D) Part-| Sherlock Holmes™ was

5. Which of the following qualities of (A) Charles Dickens
diamond is sxprassad in terms of carat ? (B) Oliver Goldsmith
(A) Volume (B) Weignt (C) Arthur Conan Doyle
(C) Colour (D) Lusire

(D) Sherlock Holmes

& Which of the following is not & banking | 44
or finance company ?

Mirimum and maximum ratesof Income
Tax in India are

(A) Barciay (A) 15% and 28%
(B) Luftansa (B) 20%
% and 25%
EE} iz:r:aﬂ Express (C) 20% and 50%
)

(D) 10% and 30%
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12, Intemational Worner's dayis observedon |

13.

14.

15.

16.

(A) Mar.8

(B) Mar. 18

(C) Feb, 28

(D) Feb.18

Punjab and Haryana receive rainfall
from

(A) Westerly disturbances

(B) Cyclones in Bay of Bengal

(C) Both of the above

(D) None of the above

Which of the following is in Aurangebad 7

-(A) Shahjan’s tomb

(B) Tomb of Aurangzeb's gueen
(C) Akbar'stomb
(D) Babur's tomb

\Who was the founder of Ladhi Dynasty ?
(A) Sikander Lodhi

(8) lbrahim Lodhi

(C) Bahlol Lodhi

(D) Daulat Khan Lodhi

In the Constitution of India, the word
‘Federal is used in

(A) The preamble
(B) Pari-lli

(C) Article 368
(D) MNo where

7 0 V0

17, \Which orie amongst the following is not

a component of fiscal policy 1
(A) Taxation policy

(B) Public debt policy

(C) Trade policy '
(D) Public expenditure policy

India has developed ten new hydropower
projects for deveinpmént to achieve the
target of import of 10000 MW of hydropower -
from a neighbouring country by 2020.
Which is that country 7

(A) Bhutan

(B) Nepal

(C) Srilanka
(D) Bangladesh

Which of the following countries won
the gold medal in cricket in the Asian
Games 2010 7

(A) SriLanka

(B) Pakistan

(C) Bangladesh

(D) India

Who is called the architectof the
Constitution of India ?

(A) Jawaharlal Nehru

(B) M.N.Kamath

(C) B.R. Ambedkar

(D} Rajendra Prasad
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13.

14.

15,

16.
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i) General Intelligence and Reasoning Ability

Directions (Q. 21-25) : In all the guestions that
follow, different symbols have been used with
different meanings. For each set of questions
you have to assume given statements to be true
and then decide which of the two conclusions
is/are definitely true. Give answer -
* (A) if only conclusion | is true.
(B) if 1::.nlg,».r conclusion Il is true.

(C) if either conclusion | or Il is true.
(D) if both are true.

The symbols +, =, x, = and = are used with
the following meanings :

P+ Q means P is greater than Q.

P — Q means P is greater than or equal to Q.
P « Q means P is equalto Q.

P - Q means P is smailer than Q.

P = Q means P is either smaller cr equal

to Q.

21. Statements:Mx X,L + O N+M, L=X
Conclusions:l. N+L . X=0

22 Statemenis:S=F, K+ 5 B=xK,R+B
Conclugions :l. F+K . K= R

23. Statements: H=V.Ax Z. H-Z, F+V
Conclusions:l. AxH L. H+A

24, Statements:1+0,R-1,ZxR,J+Z

Conclusions : L. Zx! W Z+1

25, Statements:Q + R,C+D,F-B,DxF
Conclusions ;. Q=+ C . C+F

Directions (Q. 26-28) : Select the altemative
to satisfy the relationship in these guestions.

26. ACEG:BDFH::PRTV:?
(A) QRUZ (B) QSUW
(C) STUR (D) QRST
27. Themometer: Degrees:: Ammeter: ?
(A) Volis
(B) Cealories
(C) Watis
(D) Amperes
28, Arctic : Antarctic : : Cancer : 7
(A) Capricorn
(B) Disease
(C) Equater

(D) Population
Directions {Q. 29 & 30) : Pick the odd cne out.

28. (A) Cactus (B) &and
(C) Mirage (D) Pine
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(A) Faw e 1w

(B) Fawif=dlluai|

(C) e 1mdsdosam g

(D) EHIT=E

+ = %, + HAT = THal F] 9 #G F 3EY
P+QFA42TF P, QEFT2

P-Q#F AEEHF P, QT 751 1 50=R 2
PxQE 342 fEp Q¥ sus 2
P.Q#adeEp Qigm?

P=Q® A& P, Q¥ BT san &

21, FEEH: Mx X, L- O N+M L=X
g . LN+L ILX=0O

22. *H 5=F K+ S5 BxKR+BE

9 : LF+K IL.K+R

23. ¥ H=V,AxZ H-Z. F+V

frd: L AxH ILH+A

A T

24, F1:1+0,BR-1ZxR,J + Z

FEd: LZxl I Z+l

25. F9:Q+ R C+D,F-RDxF

f8: LQ=<C I.C+F

fawm Fdwr (99 26 - 28 %) : 37 Wl ° waY
=1 A = T e w1 s |

26. ACEG:BDFH::PRTV:?

(A) QRUZ (B) Qsuw

(C) STUR (D) QRST

o7, auHer : farfi - ey 7
(B) AL
iz (D) T

(A) ==z

(C)

28, 3T : HITHEF «  Far: 7
(A) " [ Fd=FR (B)

(C) *praim (D) e
faon F3wr (w29 & 30) « fomm wree A ==
29, (A) FHH

(c) fomr=

(B)

(D) =




-
g

JDD-43/TGT-PUNJ/X-14
30. (A) Cube (B) Cone
(C) Cylinder (D) Trapezium

31. Which word cannot be made using the
letters of the phrase “THE CHOICE IS

OBVIOUS™ 7
(A) Voice (B) Booster
(C) Booth (D) Stoic

32, Complets the given number series

17, 19, 23, 20, —
(A) 33 (B) 31
(C) 34 (D) 37

Directions (Q. 33-35) : There is some
relationship between the two words on one
side. The same relationship obtains between
the other two words, one of which is missing
and given as an aitsmative below the question.
Find the correct alternative

33. Bud:Flower::?:Flant
(A) Seed (B) Flower
(C) Taste (D) Twig

34, Leader: Follower :: Captain:?
(A) Solder (B) Gate
(C) Sheep (D) Army

35. Angry:?::Night:Day
(A) Unkind (B) Stormy

(C) Raging (D) Loving

Directions (Q. 36 & 37) : Each question has
4 (four) afternative responses below it. Select
the correct response.

36. Anelevator has capacity of 18 adults or
30 children. How many children can
board the elevator with 12 adulis ?

(A) 6 (B) 10
(C) 15 (DY 18

37. My mother is twice as old as my brother.
| am 5 years younger to my brother but
three years older to my sister. If my sister
is 12 years old, how old is my mother ?
(A) 24 years (B) 30years
(C) 40years (D) 5O0years

38, What will be the middle digit of the

middle number after the following
numbers are arranged in descending

order ?

268, 197, 678, 128, 259.

(A) 6 (B) €
(C) 5 (D) 2

39. Which letter should be in the place of the
question mark in the following series 7

GHJM?2V
(A) Q (B) S
(C) R D) U

40. Madhav ranks seventeenth in a class
of thirty one. What is his rank from the

last ?
72 T (B) 14
(C) 15 (B) 186
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(A) = (B) ¥%
(C) Taetee (D) THEE
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“THE CHOICE IS OBVIOUS" F 35T
FIEM AR EAET A HEAI e T

(A) Voice (B) Booster
(C) Booth (D) Stoic
& 7 e T QU
17,19,28,29, —

(A) 38 (8) 31

(C) 34 (D) 37
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(A) 2T (B) EIEE
(C) #s (D) &
?gﬁ;TETT c?eTE
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& sy (999 36 & 37) : ToF WH A
4 (AR) S lafEm A | 3w

F1 991 4 |

36.

37,

38.

38.

4Q.

uF foree i gwan 18 szl 91 30 T
FIZIH H & | 1255 H Oy R =
e daegsas 7
(A) 6
(C) 15

(B) 10

D) 16

1 A 58 w1 & A ey A E ) F o
4TS § 5 9% B121 & 7 ) W & 3 7
=P8 | Al a F g 1298 &, w1
wf AT
(A) 247

(C) 4099

(B) =30a9
(D) 504

& T3 HEIST F1 w9 ° SaRn
FH T A T G A" T 3T

& 7

268, 197, 678, 129, 259.

(A} 6 (B) 9

(C) 5 (O) 2

e e iy s w
I 1 AR e =R 7
GHJM?V

A Q 124 - L
(C) R D) U

HEE 1B A FAM T 17 IHTER |
IS A TS AR 7

(A) 13 (B) 14

(C) 15 (D) 16
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41.

s
I

43.

lif) Arithmetical and Numerical Ability

Two trains of length 55 metres and

65 metres travel in opposite directions
with speed 70 km/hour and 50 km/hour
respectively. Find the time taken for

them to completely cross one ancther.
(A) 10 minutes

(B) 0.06 minutes

(C) 8 minutes

(D) 5 minutes

While entering the number 80, it was
entered 25 66 by mistaks. Percentage

of error is
(A} 10%
(B) 60%
(C) 15%
(D) 6%

How many numbers are there between
1000 and 5000 which are exactly divisible
by 225 7

(A) 14
(B) 18
(C) 12
(D) 18

A3

44,

45.

48,

47.

A merchant marks his ware 40% more
than the cost price and allows 20%
discount. What is his profit ?

(A) 18% \
(B) 20%
(C) ~12%
(D) 16%

Ratic of Father's and Son’s presentage
is8: 3. Tenyears ago, the Father's age
was six times the age of his son, What
is the present age of the Father ?

(A} 50vyears
(B) 40ysars
(C) 45years
(D) ©0years

F:Q=650:R=2:3,P:Q:R=7
(&) 15:10:12
(B) 10:15:12
(C) 12:15:10
(D) 12:10:15

15 worksrs, working 8 hours per day fake
20 days to complets a work. How many
days 20 workers working 6 hours per
day take to compiete the same work 7

(8) 20
(B) 18
()" 22
D) 15
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48,

49.

50.

Bi.

Sixth part of a number exceeds its
seventh part by 4. What is the number ?

(A) 178
(B) 174
(C) 172
(D) 168

What is the fifty five percent of two fifths
of 1200 ?

(A) 246
B) 264
(C) 254
(D) 284

‘The area of a squars is thrae fifth the
area of a rectangle. The length of the
rectangle is 25 ems. and its breadth is
10 cm less than its length. What is the
perimeter of the squars 7

(A) B0cm

(B) 80em

(C) 44em

(D) cannot be determined

42 + 443 L
2,2 +23

(A) 4

B) 3

Gy 2

0 3

| 3

| 0000 O 0 0
How many kg of wheat selling at ¥ 5.20
per kg should be mixed with wheat
selling at ¥ 4.40 per kg to make a
mixture of 30 kg selling at % 144.80 7
(A) 14
(B) 18
(C) 13
Ly 11
Three circles with radii 4 em, 3 em and
2 cm each touch each other externally.
If their centres arz P, Q and R, what is
the perimetsr of triangle ABC ?

(A) Scocm

(B) 12em

({C) 18cm

(D) 24cm

if three metallic spherss of radii 6 cm,
8 cm, and 10 cm are melted to form a
single sphers, then the diameter of the
new sphere will be .

(A) 24cm

(B) 30cm

(C) 86cm

(D) 28cm
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48.
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TR ETE R SaT W 39 HIGS HFTH 4
A SEEE g 7

(A) 176
(B) 174
(C} 172
(D) 168

1200 % 2/5 9 ST %1 55% 91 8rm ?
(A) 248
(B) 264
(C) 254
(D) 284

U I T NG, UF A F AR &
3/5 3 9T F TR £ | 99 F A
25 TH] 371w 3941 o= § 10 B4t
Fh g g f et

(A) 60FH

(B) 80#HH

(C) 44w

(D) Fuffm T8 s o

42+ 43
2y2 + 2.3
(A) 4

(B) 3

(C) 2

?

1
(D) >

=15
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52. 30 fFer = A saER T 5.00 s fEat

T fere et o et 718 %1 T 4,40 W
et =1t 78 % Wy fremet 214480 °
3= S =R ?

(A) 14
(B) 16

(C) 13

I (D) 11

4wt 3 9 aiw 2 Tt i e aE

390 0% 7 FI G T U WY FE B
I FF F2 P, QFRE, 91 ABC B
i aiorer w8 7

(A) gEHT
(B) 12%H
(C) 18 &t

(D) 24 &=

. Il 6 &4, 8 T, it 10 Adi et

A grfes e = s o g e
FIET S, T AU FAH R
(A) 24FH

(B) 30&H

(C) 36%HH

(D) 26%H
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29,

56.

£
=1

Fora certain sum of money the simple
interest and compound interest for
2 years are ¥ 360 and ¥ 396. What is
the rate of interest 7

(A)

(B)
(C)

12%
11%
8%

(D) 10%

A share of face value T 25 is sold at a
discount of T 2.50. If the brokerage is

% 0.50 for each share, how many share
can be purchased by investing T 6,500 7
(A)
(B)
(C)

250
350
300

(D) 200

A person travels 7 km towards South,
from there he travels 8 km towards East
and then again travels 22 km to the North.
How far is he now from his starting point ?

(A) 13km
(B) 12km
(C) 17 km
(D) 18%m

58.

80.

0 O S0 2 O

A railway train 100 meters long'is
running at the speed of 30 km per
hour. In what time will it pass a bridge
80 meters long ?

(A)
(B) 16.5 seconds

12 seconds

(C) 21.6seconds

(D) 20seconds

Twoquantitiesareintheratin 3: 4.1 5
is added to each of the two quantitiss,
the new ratio obtained is 4 : 5. Find the
two quantities.

(A)
(B)
(C)
(D) 21and28

18 and 24
iSand 20
12and 16

A persen’s total taxable income is
T 3,00,000, Out of this for the first
T 2,50,000 he need not pay any Income
Tax. Amount in excess of T 2,50,000 is
taxable at 10% upto ¥ 5,00.000. How
much Income Tax he is liable to pay ?
(A) T500

(B) 2,500

(C) 3,000

(D) %5,000




]
|

58.

56.

57.

T2 ol e wifeT e 2 9t 3 e e
=T 31 9Fats == T 360 3R T 396
2, Al ST R A ?

(A) 12%
B) 11%
(C) 9%
(D) 10%

Hfhd 478 T 25 3 UH I F T 2.50
G F WY TR | IR NEw I
& fomgieia T 0.50%, @ ¥ 5,900 3w
F e S Ee s awa § |

(A} 250

(B) 350

(C) 300

(D) 200

T Ffaa =iEor #1 & 7 = 9vm 2,
771 & 98 @ #1 370 8 et mem 2 el
i Stem 3wt it 917 22 Tl Seia 2
wa 92 9 uiiuE g e g w7
(A) 13 Tt
(B) 12t
(C) 17 B
(D) 19

Ak

| i E
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58. UF 100 "z &4 29 30 o wfa =2 i

59.

60.

wﬁﬂw@%laﬁ%nﬁaéﬂﬁga
1 Tore o9 | Qs 7

(A) 12 &%
(B) 16.58%8
(C) 21.6THs
(D) 204%s

2 U 1 AT 30 4 B AR W
"= | 5 it foa s, 9 w1 wra s
4 : 5B | ST W T

(A) 18 301 24

(B) 1537 20

(€C) 12#m16

(D) 21 3 28

T =faa %1 FeT 1479 9H T 3,00,000
2 | foed & 38 vae T 2,50,000 W 3
#1 AEEFA AR & | T 2,50,000 F T
% 5,00,000 7 = F1 7 10% 21 34
i yEE e e

(A) T 500

(B) % 2.500

(C) ¥ 3,000

(D) T 5,000
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iv) Test of Language : Hindi
wray wiem : =

66, =il Ie8 & 4 AT B9

61. B IEE Il GIET €9
(A) difea
(B) Hrel
(€ bR
(D) wreTE

62, I vIeE & fEEm vise
(A) =7
(B) HH=H
(C) =
(D) #wH

63. R s wem =g

(A) Tagh
(B) Tezml
(c) TEEm
(D) T
B4. HHIE 158 &1 waiicr] &9
(A) FEE (B)
(€) wEnE (D)
85. oI e Wi @
(R) HTT= (B)
(C) =T (D)

-18

B7.

8E.

70.

71.

(A) EH (B) @i
(C) = (D) =
2, = fei & FEAE |
(A) ==

(8) WREI ’
(C) =T

(D) =®

T 5 T Seae s 1

(A) = (B) =
(C) T (D) =

44, ﬂiqﬁ, oA sEaaTE

(A) T (B) yauh
(C) st (D) s
TE o HeR W A

(&) el

(B) =EaE

(C) TET=I &

(D) FrEas

gE EuE w1 | 390 5% 7= 2
(A) ™ (B) &=H

) B (D) 7 fem
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72.

. 3

74.

75,

Terdoy wreg =7 feim g
(A) 37dm
(B) ST
(C) sThsor
(D) ragT

53 o vl | 38 o
(A) -

(B) AW

(C) famn

(D) ferfamm

iRy e
(A) T
(B) =i
(C) @M

(D) FE

=2

1%
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Frfafaa e vew S fod uwEi F =
Tefgu |

faTes 0 W S eER T | RS
Torsom & fargmm e samn TE F Ferras
SR I e ITEIE e o 3 e
1 g1 &, <1 B9 v 1 e # | gaEp aat
Haf foramm 7 37 9 39 g o e v
w9 F F0 & T | R fren e @ sf
Sfferes HE T ¢ | $9E S o g S
= SRR 9T 2 € | famres o 1w e e

F U EAE |
76. Temmmd M EER?
(A) T
(B) T R
(C) FF
(D) ST
77. TSE A F 9 91EA
(A) = (B) THERYE
(C) =T (D) wen
78. FeFzR O fifEmm st res e ?
(A) Trn (B) =M
(c) Fm (D) =l
79. TUEETEIL R SEE e 7
() T (B) fsmA
(C) == (D) ¥ _
80, IHI AT S FA SR AR ?
(A) SERT
® f=
(C) fagmas a1
(D) 17 A+
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v) Test of Language : English

|t

Directions (Q. 81-84) : Read the following
passage and answer the items that follow the
passage.

Education, without a doubt, has an important
functional, instrumental and utilitarian
dimensicn. This is revealed when one asks
questions such as ‘what is the purpose of
education 7' The answer, too often, are 'to
aequirs qualifications for employment/upward
mobility, wider (in terms of income)
opporiunities, and ‘meet the needs for' trained
hurman power in diverse fields for naticnal
development'. But in its deepest sense
education is not instrumentalist. Thatisto sa',r.,
it iz not to be justified outside of itself because
it leads to the acquisition of formal skills or of
centain desirad psychological sccial attributes,
It must be respected in itself. Education is thus
riot 2 commodity to be acguired and then used,
but & process of inestimable importance 1o
individuals and society, although it can and
does have enormous use value. Education
then, is a process of expansion and conversion,
not in the sense of converting or turning
students Into doctors or engineers, but the
widening and turning out of the mind the
creation, sustenance and development of salf
critical awarsness and independence of
thought. It is an inner process of moral
intellectual develooment.

Ax*

Ll
-

81.

82.

83.

What do you understand by the
‘instrumentalist’ view of education ?

(A)

(B)

(C)

(D)

Education is functional and
utilitarian in its purposes

Education is meant o fuffill human
needs

The purpose of education is to train
the human intellecy

Education is meant to achisve
moral development

According to the passage, education
must be respected in itself because

(A)

(B)

(C)

(D)

It heips to acquire qualifications for
employment

It helps in upward mobility and
scquiring social status

i is an inner precess of moral and
intellectual development

Al the {A) (B) and (C) given above
are correct in this context

Education is a process in which

(A)

(B)

(C)

(D)

Students are converted into
trained professionals

Opportunities for higher income
are generated -

Individuals develop self-critical
awarsness and independence of
thought

Quaslifications for upward mobility
are acquired
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84. According to the passage which of the | Directions (Q. 89 & 80): Choose the word or

following is TRUE ? phrase which is nearest in meaning to the
(A) Education is a process of e
expansion in the sense of 89. Despot
converting students into doctors (A) poor
{ (B) Education doesn't have functional (B) tyrant '
? dimension (C) foolish
| (C) Education is a commodity to be W insane
‘{ acquired 0. Knack
(D) Education is an inner process of (A) authoritative
moral development (B) commonplace
(C) familiar
Dirsctions (Q. 85-88) : Read each senience (D) trick

below and find out which part of it contains
Dirsctions (Q. 81 & 92) : Checose the word

which is opposite in meaning to the keyword.

grammatical error. If there is no error, your

answer is (D).
z ' i
85. The gentleman (A)/ together with 91, Malgn
his wife and daughter (B) / were (A) praise
drowned. (C) (B) slander
(C) defame

88. People have (A)/ideas about (B) /

D) disparage
aeroplanes in ancient times. (C) D

oo

S2. Tacit
87. Ityoustand by me (A)/in my hour of =

A)  =silent
need (B) / | will nevar forget you. (C) (&) silen

(B) unexpressed
88. The old man toid (A)/ his son that there

was no (B} / such thing for luck. (C)

(C) expressed

(D)  impertinent
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Directions (Q. 93 & 94) : Fill in the blank by
selecting the most appropriate word from the

four given alternatives.

93. Youmust teach your brother
he will fail.

(A) before
(B) otherwise
(C) because

(D) since

g4. Jaya is one friend, | can always count

in times of difficuty.
(A) with
(B) after
© (©) at
(D) on

g5. The correctly spelt word is
(A) acomodation
(B) accommodation
(C) accomodation
(D) acommodation

Directions (Q. 96 & §7) : Choose the correct
meaning of the words in capitals from the four

alternatives given.

96. The court adjourned SINE - DIE
(A) definitely
(B) forever
(C) incefinitely
(D) periodically

-23-

97.

g8.

100.

R A SRR T U

Vice President is the EX-OFFICIO
chairman of the Rajya Sabha.

(A) elected

(B) selected

(C) by virtue of his officer

(D) appointed

The plural of *journey” is
(A) journys
(B) journies
(C) jourmeys

(D) none of these

"He did not tell me where he was
working"

The above sentence is a

(A) . simple sentence

(B) complex sentence

(C} compound sentence

(D) simple as well as comple

sentence

-

*Camal is like the ship of a desert"

The figure of speech employed in the

above sentence is
(A) metaphor (B) hyperbolie

(C) personification (D) simile
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SECTION - B
R -F
Post Specific Subject-Related Questions
T Witiees faeg - gadft ovs
101. wfensws e ol fam folt fog fod et 3

I (A) Fraer
1 (B) wre=rst ;
f i (D) fegs™ Ry @t &t
| 102, Ut = e fewags feRmr
(A) 75 e - ,
(B) # & i T
(C) fefeni waw
(D) feos fé &t &t

103, aws 6% ug foor dor #, == fow et g
# foest ® wuw 3 faom = 2
(A) v faferr + orftemm + Aged + Aot el
(B) wy fafowr + Figew + sdees + safes ol
(C) e fafenr + aistews + mofea fafoor + dees
(D) wr fafesr + roofea fafoor + osies + Aams

104. #39 - YosHas 3 € ¢
(A} wz &8 [=avs meT U
(B} ffg T €7 vt ¥ Hapa
(C)ws &g Yz §u 7 Wl = fEy
(D) viesd 3 w0ed vs

105. ‘wrigen, T, Hemr = fd fom A 55 37
(A) 57
(B) wai
(C) Afsza S
(D) Bs* &7 foit 7 &7

e B

106. Bei-1 2
(A) Ut Wiz w fefsom hos fRw Fewr
(B) Fret wrios ¥ widseEve fEimom 2) s A Wl
(C) s wifgs = HEgS fElsom 1) iy v Fse
(D) et nEE & iusEe e 4)Fer T woE




108.

108.

110.
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107. iy fefsow fe =R wodeEe

1%3.

112.

(A) gt 3
(B) fefzom= 3@
(C) mofra 38
(D) wriafs 9

fogmr g 7 d -
(A) =h=e, g WaEE TR

(B) ofew Ho¥dET. g, wfeesd, IR

(C) y=rs, =fen, TR, F=ITH

(D) g, ofew, S9gEEY, FNER, TN

e = Fan R wE T "<
(A)e" &5

(B) gs =&

(C) wawe '8

(D) T =5

T GRS € A3 O

(A) i =T
(B)ug ==
(C)=g &=
(D) Bt =

(a) (=77 :Wﬁﬁﬂﬁm?ﬁf&aﬁﬁma?ﬂﬁﬁﬂmmhé
war g o

(b) ﬁm:w%ﬂﬁﬂﬁam@n&mﬁaﬁ?mwg?ﬁl

(A](E}Wmﬁ“ﬂ*ﬂib}‘amﬁﬁaﬁﬂ

(B) (a) v 3 (b) »itk 7t 2

(C) (a) 7t @ (b) wife= = 3

(D) () »iee wll & (b) vew wt mot @

forar wiE TOAET OT T RUT &
{A]Eﬁﬁﬁ-‘-{'ﬁhﬁ
{ijm:m‘t
[C}Bﬁéﬁﬁw:ﬁﬁﬁ‘ﬁ

(D) Farie UEE YGRS




00 R0 0 O R
113,
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. 114.

115,

6.

11.7.

faoe #F i 37
(A) BFws 3 voass UeE wlos o wEwe &9
(B) oS © &9 diiF - Wifee Ty doer
(C) da= - Tehe flw fie
(D) daniw - Ty il e
Het-1 weft-2
(a) dret =T T foramE 1) Bifeg P wore
(b) 7w feforrs Famy 3 fower ?) wat g
(¢) Theoretical Linguistics 3) F.D. Saussure
(d) Course in General Linguistics 4) John Lyons

Gz B9 fager 94 vt 2
(@ (&) (e (9
(A) 4 1 ¥ ey
(B) 3 2 4 i
(C) 2 3 ] 4
(D) feow &8 adt &t

fef;ama??:f&aaf wat g

(A) qure, HeEREE, T%HGEE"%“' €53 s
(B) wowree, Fowawe. guew, S99 winles
(C) wemmere, gy=, Favawe, €5 Wgioas'
(D) Aasarere, gue, €50 wgfeast WeaReT

(A) yfesst
(B) B

(C) 7o

(D) wies g

- UnEl Figs ¥ 9w - 99 © faow wimw 558 pofem ©

(a) (a=a) : o5 - w HEdh o5 fah & R W Bifr BT AdhE T Aee @ =
UgHEs YETEl ¥ WA 0% HeE yEE v aonHls aloe w0e Wosedes O
(b) (awa) : fagis "o F=w ¥ ym et ffowms 3, oW B Ao - SR @

m%ﬁ%wﬁzﬁﬁam
(A) (a) =t & (0) W= &
(B) (@) == @ (b) met 2
(C) (8) /el T (b) »ifie welt &
(D) (2) = =t 3 (b) Wk @

A
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118. et g9 o3 Fgd 34 udd

i (A) 2= T et 3wl o

3 (B) woe det 2 dhowt 3 daf ot
(C) wagnt 3 Y 3 ARl IO

119, memwhﬁﬂtﬁﬁwﬁ
(A}Eﬂaﬁ.ﬁﬁ:ﬂr’ﬁa»ﬁgﬂ-
(B) & =oF, e 3 &fes g
(C) fi & T, e W3 el
{ﬁ]-ﬂﬂmﬁeﬁegﬁaﬁgﬂa‘ .

120. Ba Fe O AR ¥ I
(A) 52, wawl, oI
(B) vt B, B2 Gedt, FE
(C) w== Wil o e, EII
(D) za=t, &93 FES, TH g

121, adt = wmm 69 WT ... TP
(A) U
(B) fils#
(C) mor
(D) fiafir

122, === 7 el v afipwr B g Wlg W |
ofr 7 et i@ m v Tt B
roe dh e g |
(A) vl owdt & feg § BT 5@
(B) e & gt o B
(C) Frrex Tt 3 T T & e
(D) & % afevst & Ee

123, fao=r He mEEhr T 3
' (A) TmH %3 7Y gRE
(B) 7reg wE T

(C) w=wwe w3 Ug
(D) & 717 w3 T 7O

*
%

¥ - o
E -
— = S ——
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| 128.

128,

| O 0 O S 0

124,

125.

128.

127.

ﬁ%"re?ﬁﬁﬁai%ﬁﬂszf

(A) =8t €5 © wnse, &9 & @, ufgEr dast
(B) femm fimedl, Sowet wefee, rfondl dies
(C) ufsze gu, ovw, &&

(D) réftvim use, 9, By 99 = =H=9

wesizew v He oo’ BT faR 3@ 3 =9 wme flor
(A) T dte

(B) 5 ww

(C) wa gim

(D) geaw =g

(A)7a ofe w3 58 79

(B) mszs ¥ w3 "9 TRG
(C) =757 =i w3 T8H o
(D) 55 7 »3 wEw e

Urrel gl wfE witds € = @

(A) 3 T=dt oW fape, 7 o fiw O 9sds fw

(B) 5 77 ow mow. = geiiee Hu B T aEs % WMo
(C) =gt 7y fiw, 7= fimre iy, o7 3w fw

(D)3 i P dizs = TowEs A ofse 3 s AR

YERET WE e 99 fam oie 0w ® Aamy o
(A) st =i
(B) fimr afe
(C) wet e
(D) g% @i

Teeel © afe wrsg ffowe =2 yies wmad &
(A) weHTeT T wEeg

(B) e wew 2 ¥y

(C) zar=st 3 mast

\D) mam 3 fpet

JDD-43/TGT-PUNJ/X-14
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130.

131.

132.

133.

134.

135.

gegs 8 FE HY

2x 57 3 ofs 7w Gufenr
Ax 38 9 HE
dadhet & B4g 8 T6
{A]q[g.m@%

(B) 353 =dte
{G}_ﬂgi’mm-
(D) e =

(A) s T8 wioEs, 13 293, 10 52, 7 IQuE ¥ IR ' - &
(B) 7 7 whows, 14 9, 9 Fe. 6 TP ¥ Ik
(C) 6 o mioars, 12 393, 12 92, 6 JquE © I
(D) s Tg W, 1s 3981 11 92, 4 TgwE ¥ AR

45t ot e T faofest Usdhy femer womsy @8
(A) iz =2 & avel S= & wiftmr, 39 € Wor WER TEH R

-{E-}wwﬂmﬁn@mh#mw&w%mml

(C) Toav 2= B2 it o5 - ofe, Wt Hig Herfomr T= 3

(Dydsr fyst wiiw @ frie 7 ARTT Quifen, g faas WoW FE,
gEadt T U5 guis el

7 b s da B 3 edee B

(A) et fefo = fomes & =t R & 9

(B) fefzgma afer ®t nede & Zoes §

(C)aw wemrdt whor 3 wewdt = Toss &

(D) & =t ygssr &

famis cZaed ¥ A2 2

(A) ursm Frar

(B) ¥z & weeiE

(C) et Toew & uleat =% L

(D) yarsa waw At

ECU it U e i

(A) fasT

(B) mé ezt

(C) #ter ==

(D) wios 50w

-28-
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136.

137.

138.

138.

140.

141,

mdy Tt S S 7 ET wReE © faow e R 3
(A) for 18, Tis foud, yes

(B) astvit = Hy, Ueior B, frome fimet @

(C) Bant Tt W, Tiw food Few © dar

(D) 2ot = Fu, B € 03, WR T A

7 wnds My 3=t & fan ovo fiw A - miseres @ wEs Un ofer @
(A) Frmfst @ fages 3 uias'

(B) wr& 3 G28

(C) =gz <t 87 T

(D) fez 73 AR feg AE @i

HoHI ¥= € afe Aafo 75

(A) fegw »ow 33, & e wIe forge

(B) 7= ®w fot ges, ooy »ow &3, == &9 voes 3
(C) = & wooro, U=z ® 128, goodE

(D) o35 &9 meger sooqe, Fel € S5, Fow © Thow

7Es o gewiEw O - feft € fiols v Adt woe @
(A) 5=s THg - "oo§ ¥ §g AE9s &I

(B) 557 ® feggzs ywmwr © Roes

(C) 5e® AH=E Gegg © YRareel WRE

(D) =% fee33 3 feizam © HA

JFet S0l € guee @ WY 3= 4

(A) wrofss Bt a0t w3 &9 9ot — §HE
(B) i Fost w3 B IO T HAS

(C) Tt sorat w2 Ursl MG SE0E € BHS
(D) B T@et W3 5 AHEE nao &5 GHS

dardt mEw = wes fam w9 By dibw
(A) c=viz iy s

(B) veer i FRe 98

(C) Fd=ag FomH I

(D) 557 5=
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142. mmﬁaﬂwmwgiw@zmma

143.

144,

145,

146.

147.

148,

(A) wsds fiw

(B) aum fwr ez

(C) gawas fru

(D) wsw #=

gz sH g 2 ged @ g wiefsg B39 9
(A) umrT

(B) e

(C) vra="

(D) fezt

mmﬂﬁﬁr?ﬁﬁﬁﬂ?ﬁfﬂﬁ?hﬁﬁﬁﬂ

(A) s ot wistht et &S
(B) Fes Enit bz WA FE

(C) greTss oE _
{Djﬂmﬁﬁ?mfﬁﬁ*w-

fog & o femEt T EH T

. {Ajﬁﬂﬁﬁﬁ"ﬁ—m

(B) ez Ewi ehiE TEEE
{C}i‘ﬂ-rﬁ'émﬁ.fsﬂa
{D}f@'ﬂﬁ?iﬁﬁ{ﬂ'@ﬁ‘?

mgyﬁafﬁmmﬁ

(A) i fis=r - gofts fowr 7S 3R

(B) yg5 &=F - fgi TE AR

(C) &= T&n - gg= R fig €2 g

(D) Afenr 7 g fhr B 5 TF
ﬁ_mmﬁmmwgmw
(A) st

(B) Aawme =l

(C) HearETe!

(D) foum femia®

faﬁfa'ézéi’a'a‘arh{fhﬂﬁ':ﬁmﬂ
(A}hﬁ??ﬁmh{ﬁﬂﬁ
[BJWFGE—L'S??&?E:;EE%&%FE
(C) fas = FEEEH YERE

(D) Afog - w3 & yEeEHe! P
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148. mmmwwmfmw
(A) zzvor &
(C) = gRs Aore
(D) eféee mizwadt :

150. 1 fems fitw & fam 99 9 widse o7 & 4
(A) dmelt 5=
(B) ot aoa
(C) et e
(D) s e

- e wiaws, oo (O 39€ § wequr € v 3 o veed & w3 9
2 ws 3 w9 O ot w fee wodl 71 908 meem wE wie - fees fesew
viggy femw = - fres o w2 - et =T wget 41 o w@ e ¥ RR o
Tt & B - Beae It &1 v v 5dw oagfes 33 3 & 169® IR EEE4l O
wioa 3¢ 91 7 fgwa Wy @ = winds weer 3 87 &9 weuEs wlos
AT f feas B de I T TRg - S vis w8 feo dur 3 § g - RS §F

151, ST H 3
(A) TEeE == = - feos fevae wagy forw 39
(B) fegres w395 T gyl
(C) »isar 3 "o wrdEs
(D) ofedas = deues RovElEse

152, T - Auses. Wiog We @ 9 fegea wisee i 3@ @iFt Wt @
(A) w=tw oz w3 Inadt
(C) 7 feomm »idws @ © wittds @@er 3
(D) rfi= Foes W Fiaz Fuw

153. @5 foe & mEvE © RAEr 3
{A) miisT, wigsre, doet 7%
(B) ez, wmwe, fodme
(C) eRmeh, B, g
(D) feow e 32t =
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154, ‘w3 07 5 wEdeer, W fod ¥ I e 3 otz o Adr 3

(A) Arag &8 (B) &% %= 75

(C)am &8 (D) a8 &5

Het-1 -2

(a) gua 1) Ba e

(b) T 2) 58

() aFmast 3) HE

(d) wiar 4) &g uTEH

156.

157.

158.

Guzazs & fager o "t @
(@ () (€ (@
(A) 2 4 3 1
(B) 4 1 3
(Gl 2. 3 1
(D) e fE A 5

e

FE

(At femm = e O
(B) v miiemara <

(C) mrr fefemra =t 2= 3
(D)5t &3 T

Aoz & yfEest &
(A) HeraHe!
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IMPORTANT INSTRUCTIONS TO. CANDIDATES

TrfreaTil & forg wewgut SR
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14,

15.

17,

18.

JOS®0CIBE 00

This bookiet contains 40 pages.
Pleass check all the pages of the Booklet

carefully, In case of any defect, please ask
the Invigilator for replacement of the Booklet.

Directions : Each guestion or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you ara required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue/Black Bak-Point Pen
against the gquestion concerned in the
Answer-Sheet. (For V.H. candidates
correspending circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each guestion. The circle should
be shaded completely without leaving any space.
The correct method of shading is given below.

Wirong Minthed | Cormect Method!

oeooloeoo]

The Candidate must mark his/her response
after caraful consideration.

\Wrong Meshod ii‘ﬂ.lmuul'md'

There is only cne carrect answer ta each
guestion. You should blacken (@) the circle
of the approcrizte column, viz., A, B, C or D.
I you blacken (@) more than one circle
against any one guestion, the answer will be
treated as wrong. if you wish to cancel any
answer, you should completaly erase that black
mark in the circle in the Answer-Sheetand then
blacken the circle of revised response.

A machine will read the coded infermation

in the OMRB Answar-Sheet, In case the
infarmation is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

Use the space for rough work given in the
Question Booklet only and not on the
Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated In the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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